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Answer all the questions.

Please use the information provided in the Resource Booklet to answer the following questions.

1 IKEAs ‘the world’s largest furniture retailer’. (Line 3)

Explain two likely barriers to entry into the furniture market.

2 IKEAtakes its corporate social responsibility (CSR) seriously. (Extract B)

Analyse the possible effect of IKEA's CSR profile on any two of its stakeholders. [6]
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3 Evaluate one reason why having a range of promotional activities is important to IKEA. [10]
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5

IKEA raised its basic wage level in all of its stores in the USA. (Extract E)

Explain two possible reasons why it might have done this.
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6

Evaluate the importance of effective stock control to the success of IKEA. [20]
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Karlsson Skogsbruk (KS), based in Sweden, manufactures wooden furniture for large retail stores
in Europe. It is hoping to get a contract to supply IKEA, but it has not yet organised its own
operations management sufficiently.

Table 1 and Fig. 1 show the various stages and time taken for the manufacture and delivery of a
recent order for 110 garden chairs and 70 garden tables.

Stages of processing a recent order

Activity [()r:j;itrig)n
A | KS receives order and communicates to wood supplier 1
B | Lead time for wood delivery to KS 48
C | Delivery, unloading and quality checking of wood 3
D | Briefing and training of ‘garden chair team’ 2
E | Briefing and training of ‘garden table team’ 3
F | Pre-manufacture cutting and treating of wood 4
G | Manufacture of garden chairs 50
H | Manufacture of garden tables 28
J | Quality checks of garden chairs 2
K | Quality checks of garden tables 2
L | Packaging 6
M | Loading and delivery to customer 10

Table 1
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(a) By completing the network diagram (Fig. 1), calculate the:

(i) earliest start time for activity H.

ANSWET ..o [1]
(ii) overall time for delivery to the customer.
ANSWEN ..ot [1]
(iii) latest finish time for activity D.
ANSWET L.t [1]
(b) Using the network diagram (Fig. 1), identify the critical path for the order.
3= [1]
(c) Explain the difference between total float and free float.
.............................................................................................................................................. [2]
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(d) The marketing manager at KS does a lot of research into the consumers of its products and
their likely response to changes in price. Recent research from a furniture store in Germany
has shown that a fall in price from €150 to €112 for a garden table led to a rise in monthly
demand for garden chairs from 86 to 98 units.

Calculate the cross elasticity of demand for garden chairs in response to the change in the
price of a garden table.

7 Analyse one way in which Ansoff's matrix might have been useful to IKEA when planning the
expansion into India. (Extract G) [6]
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8* Discuss the extent to which changes in economic factors are likely to affect IKEA in the future.
[20]

©OCR 2018 Turn over



© OCR 2018



© OCR 2018 Turn over
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